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Instructions for the candidates :

1. SR TEIRYT %A Aed T I L
Candidates are required to gue ther answers in they oun uwerds as for as
practicable.

2. A FR e WA g sF g Ahe w14 £
Figures in the nght hand margn ind:xcate full marks.

3. IF FFNT ¥ GEYET §B F ST wRnew ¥ 15 552 & 555w 55T T
mar i
15 minutes of extra ime have been aliotted for the candidates to read the questons
carefully.

4. T TFYE TGV 4 &, WvE-N 7d aAvE-q/

This question paper is dinded inlo two sections — Section-A ard Section-B
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s wvy-xd ulﬂﬁ'umhr-ﬁ‘#fmf wiE T T b TNE F

1 00 EnTn b & % Red 40 S S & T T E A AW 4057
wnr&mmfﬁwmmmwmm-m=ﬁ?wm?
w i et P o1 7 o) faw T & R / ATR e / WY / gy
aft 87 am TAT-OFE § guin v & §, WAy e ST N9

hMMm“mwmm’q{“M”y
40 questions are to be answered. If @ candidate ansuwers more than 40 Queation,
then answers of first 40 questons wsll be cvabiated only Each queston carme
1 mark Darken the crrie wah blue / black ball pen agamst the comedt opton on

OMR Ansuwer Sheet prinuded o you. Do not use whitener / liquid / blade / nafl
etc. on OMR Answer Sheet; otherwise the result will be (nsalid

6 wvg-w § 28 AY IA0w gvx #1 FE 8 A wiaw e ¥, 79 TR RTRE ¥
7 709 a0 fawr & #) ww fawe (Ve w0 W XA far) &
T oFE W I T b 5w ® R 29w @t 1 53 A may §
6 U 70 537 2 o, fs ® amrllas ey #, 209 TRIGT rer
¢ 297 AT fawrT & L iR A § OY 3909 5 & BT 6 WE, Ay
wrex 03 7 fawry &S W A b 5w faww (Vi areE, TR rrer
¢F FT ) w Ue-0w oF &1 390 o5 Ak ki
In Section-B, there are 28 short answer type questions. Out of these, eight
questions are from Physics, seven Questons cre from Chemistry and seven
Guestions are from Blology Four questions are to be answered from eoch subec

{Physics, Chemistry and Blology) Eoch question cames 2 marks Apart from
these, there are 6 Long Answer type questions ; winch two guestions each from
Phygsics, Chemistry and Biology are there Long Answer type guestions from
Physics carmes 6 marks each, and from Chemistry and Blology carnies S marks
each Answer of one gquestion euch from Physics, Chemistry and Blology s
compulsory.

7. [owr Sa0 & FHaa® 3990 W 56 aw @ ki
Use of any electronic apphances ts stnctly prokubied.
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vy sy 1 & 48 A% wrgfre gy §1 g @ AT 40 T 8T 37T & &1 g=iw wy
& are wr fre=w fry mo § Frd # ow st &1 3R 0 97 0 A6 frwea st oum

40 x 1 = 40

WYY - ¥ / SECTION - A
THf1E U¥T / Objective Type Questions

¥z a7 RefgTa w71

Question Nas. | to 48 are of objective type Answer any 40 questions. Each question has
four options out of which only one s correct. You have to mark your selected option on

the OMR sheet.

srize @ Srfefga o fas s A R 2

(Apy NI (By  HHEA
) fa p) g e
Which of the following is mecasured by ammeter ?

(B) Charge

(A) Current
(D). ¢Elecine power

€] Potential
) TET A g F ) e g B W 8, e R
A AT By fagn W
() Itz i fawg we g (D) ¥ R F A
The device which converts clectrical energy into mechanical energy is
{A) Generator
(B) Electric motor
(C]  both Generator and Electnc motor
(D)  none of these
3 TME IR
Lod gl 1 L..L
L v u f (B) v u f
o Aot ]
\I‘(W f > u v (D' f ¥ vV u
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Mirror's formula is

1.1 .1 1 5§
N pross B 7wty
bl i Lodud
(C) 7.+.;.; (D) f+u =
s Pree oftz 2wt Pt F A € & GO0 R AT R 2
(A) I B Faad
S TR (D) VEFITHR
Which of the following lens is used to remove short sightcdness ?
(A)  Convex (B) Concave
(C) Bifocal (D)  Cylindrical
5, vt afufea § o a e @ wn At
JA w7 L e TR
© Sfvens W@ Igr o D) T A F A
The substance which takes part in chemical reaction is called
(A} reactant (B) product
(C)  both reactant and product (D) none of these
6, WIREmaat?
W I (B &g
€ A (D) T & |l
Tooth paste is _
(A)  acidic (B)  basic (alkaline)
(C) neutral : (D)  all of these
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7. Foafalaa st e frgy e quee b

-
(A) T&FRT (B o]
ey B 31 74 g (D) NI
Which of the following is a good conductor of electriaty ?
(A)  Sulphur (B8) Chlonne
(C) Graphite (D)  lodine
8. frafefua i & wwaifees ek )
(A} ~CHO By »>CO
ACT - COOH o =-0-
Which of the following is a carboxyl group ?
(A} =CHO B »CO
(C)] -COOH 0 =953
9. feaw wmi wA &
A I ARH By AR H
(€ g-aifew am o p) A

Switches are set
(A) in cold wire (B) in hot wire

(C)  in underground (carth) wire (D}  inall of these
100 R ddss smiwsTm IR T ERTaE ?

~Ay g (B) @
(€ g O wFhE AR
Which of the following is not the source of non-rencwable energy ?
(A)  Petroleum (B) Coal
(C)  Biogas (D)  Natural gas
[212 ) C [7038-C Page 5 of 20
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1, W 0 gwe fra ol fwa g k?

(A) S B N
© e Dy TR
To which of the following is human kidney related ?
(A} Nutrition (B)  Respiration
(C)  Transportation (D)  Excretion
12, g e ym A R 2
(A Rew ) Hfw
© yu N
What is found in hydra ?
(A} Brain (B)  Nerve
(C)  Mouth (D) % Tenticles
13, wwm ® Rt mm e k
(A)  Hhi Tl e B frol ar i
© e st fem o) v QA Wt A
The rays of light travel in
(A)  straight line (B) oblique line
(C) any direction (D) none of theae
14., Frefafaa § 29 @ ®) goa ® waw k2
(LY (B) UR
4o IRt () 2w
Which of the following is the unit of power of lens ?
(A)  joule (B) watt
(C) dioptre . (D) erg
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15, fom i @ faaem 2pmm A e

#

Ly T (B e
) en o) AT
The deviation of which colour is minimum ?
(A] Red (B}  Yellow
(C) Blue (D) Vialet

16, A0 2w gwr Wt w0 WA @ R o2

(A) TR U By &= umm
€ (a3 (BT o) ¥ A FE
Which type of current is obtained from a battery ¥
(A}  Alternating current (B)  Direct current
(C)  Both (A) and (B) (D)  None of these

17 Fraa 0t F R SN W M gn A g ?

<A FARITw B) fITEEE
(C) EIETRM @) O W T T
The green colour of plants is dug to the presence of
(A)  Chlorophyll (B) Leucoplast
(C) Phytochrome (D) nonc of these

18, O o I|A WY &

(A) TR | =
N s D) TERF
Excretory substance in plants is
(A)  Gum (B) Tannin
(C) Resin (D) all of these
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19. mmmmmmﬁmwh
A TR (| IWGES

C) TAwE _\(pyfﬂ'lﬂm

In which state is Tchri Dam constructed ?

(A}  Uttar Pradesh (B) Uttarakhand

(C)  Rajasthan (D) Madhya Pradesh

20, Prfefaa & fawd swo s adt gt & ?

(A} CO, .(B) SO,
€ co | P Ch
Which of the following causes acid rain ?

A CO; (B) SOy

€ ¢Co D) CL

21, Wt G- & forg It @ affem WA ¥

(A) e (B) qHl

©, D) FE

Ultimate source of energy for all living organisms is

(A)  Planet (B) Moon

(C) Sun (D) Coal
22 fempdfF My iy m o g ?

(A 2° B) 8

© 10 | DK 6
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How many pawrs of spiracles are found in ¢o¢ kroach ?
N2 oy B
(C) 10 (D) 6

23, ©ET v & e e

(A)  ETE ® A
(G ' g (D) Tofaat o
Photosynthesis takes place in

(A) Fung (B) Animals
(C)  Green plants (D)  Parasites

24 SR FAE T FEAREEE F uaes oAk

(A} TEHFEAF FIH B) WREA® T

(€ T RAFEFIR Oy . -qFA & &I H

Transportation of carbohydraie through phloem tissucs tnkes place in the
form of

(A} Glucose (B) Fructose

(C)  Lactose (D)  Sucrose

25, WA 2H,+0, »2H,0 ¥ TH

\J»»/ woras st B) (e sfvfiem
(€} 3awm sfufwa (D) T AfufEa
Equation 2H, +0, -+ 2H,0 isa
(A}  combination reaction (B) decomposition reaction
(C)  precipitation reaction (D)  neutralisation reaction
212 ) C [7038-C 3 Page 9 of 20
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2, TEEW & Tt g Prafefoa 3§ @ k)

(A} C,HOH (B) CgHgO4
G CeH 30, (D)  CeHyg
Which of the following is the chemical formula of glucose ?
(A} C;H OH (B)  CgHeOp

IC) CeHy204 (D) CgHg

27, Wifgaw & ] dEm

8B 1 B) 14
€ 17 (0) 20
The atomic number of sodium is
(A} 11 (B) 14
€ 17 (D) .20
28, 3l § i g S e & 0
(A) R (B 3imiEm
(C) . Famwrt (D) U

Most of the nutrition in an amoeba is
(A} Herbivores

(C) Omnivores

(B)  Holozoic

(D) Autotrophic
29. ¥EW FROM & waw @i F wew o §

QI g

(C)» &R ¥iq

B) 3wy iy
D) frw g

The element of first group of the peériodic table is
(A)  acidic metal

(B)  inert gas
(C}  alkaline metal

(D) alloy
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Prafafga G a7 ogfrs wava b o2

JO,

(Al ‘T'T! {B) "=

c oy

Which of the following is not a natural resource 7

(A) Atr {B8) Water

€1 Sal (D)  Organism
31, TEm & qrrrta & ferd s k2

(A1 JdBr 2

iy 3 oy 4

How many laws are there of reflection of light ?

LYR B 2

< 3 (D)
32, T E e s fEE o g

(A)  wTEn F F A B) IAEFIH

() UmEmrEkEw R AD)— TR

Wavelength 1s genierally expressed as

(Al candela (B) joule

(C}) ampere (D) angstrom
33, Pefefma s fFrmuvga o @ a2

(A} & (B) ®FW

IR @R <or-  faferEa

With which of the following metals is solar cell made of ?

(A) Zinc (B) Gold

(C) Platinum (D) Silicon
[212 ] C [7038-C i1y Page 11 of 20
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34. Pefafmadsm semi )

(A] HCI (B)  NaOH
(C) K,S0, (D) NH,OH
Which of the following is a salt ?
(Al HCI (B) NaOH
C)  K,S0, (D] NH,OH
35. faefetaa @ waa vty da ¥ 2

N feafaam (B ?Iiiuq
) fafam D) WEA
Which of the following is the heaviest metal ?
(A) Lithium (M Uraniym
(C) Cesium (D) Inon

36. T3 % Uw 3] 1 ferd m doreseweE k)

A) 2 B 4
€y 6 oy 7
How many cavalent bonds are there in one molecule of ethane ?
(A} 2 B 4
€) o oy 7

37. e mamfw g en am t >

(A) IOUw (B) U IR

() ¥R (D) ¥mm

Which is called chemical messenger ?

(A}  Stimuli (B]  Digestive juice

(C) Hormone : (D) Impulse
[212]) C (7038-C uy Page 12 of 20
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38, % FifER &% wvte T : s fred e & 2
W TR B) FEE

(€ T D) TS

Who wrote the book The Ongn of Species’ ?
(A} Darwin (B) Lamarck

(C) Oparin (D) Weismann

9 R ifFaommimgma o ms SEemd

(A) FmW |

(€ =m Dy frra

In which of the following media is the speedof Lght maxmum ?

(A}  Glass B Water

(C) lron (D) Vacuum
40, fvm=R @ S| 7 o g

A PR By =

€ T (D) =

S.1. unit of potential difference is

(A) coulomb (B) volt

(C) ampere (D) ohm

41, MNIAFHINFHTWAAEL ?

(A) @NH B #FJ
¢ g==I Oy A F
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?
Where is reproductive organ found in plants

(B) In roots

(A} In stem
1t
(C) In Nower (D) In frui
, , o ey gl : .l -
42 A 3 3w ) manmq‘lummfmm ?
{A) m (B) I]’HT'

€) =R o) TREA

) i ics ?
Which plant did Mendel use for his expenments in gEastch
(B) Rosc

Chrysanthemum

(A Neem
(C)  Pea (D)

a3 affedtre da & 3 @ e Ew km A g k 2

A} wEfeym B feisw@

()  wgfETg D)) fEat it R v @
In which direction dees.epergy flow in an ecosystem ?

(A)  Unidirectionad (B) Bidirectional

(C)  Multidirectional (D) Non-directional

44, AR A T A R
(A} AgEzE & fraet g B) dgHEA & FWI TAE 7
(C) AYHIA & Mg FAF | D) TAd A #E W
The ozonc layer is found
{A)  in the lower layer of atmosphere
(B)  in the upper layer of atmosphere

(C)  in the mddle layer of atmosphere

(D)  nonc of these
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45 g M
’ L HTH. vy E 70 & il st X
AL——Tu
‘) B ¥
() & :
Dy ZFA
By which
& ; of the following gases are exchanged in plants ?
l
(©) s {B) Roots
S
R (D)  Shoot
46. ﬁqnmmm.mfmmk ,
A e 48
(€ wma o s
Who has the fastest heartbeat ?
(A} Whale (B) _ oR&s
(€} Elephant {0} Human
47. TR AN 510 (FgpewEe @ word (F0n) #1796 gk
(A) Il T B g W
(€ g D) ¥H R a9
Which type of nitrogenous wastes is excreted by living organisms ?
(A) Ammonia (B} Unc acid
(C) Urea (D)  All of these
48, At A3 F WA v e 1w # w5 §
-\LQI’“' AEH B A
€ ®m (O) A A
The structural and functional unit of nervous system is called
(A)  Nephron (B) Neuron
(C} Cerebrum (D)  nonc of these
[212] C [7038-C 3] Page 15 of 20
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VY - ¥ / SECTION - B
wvifes wITea / Physics
AY TATY UYA / Short Answer Type Questions

oYY wwar :#nnnqnﬁvhy##fuﬁunftmirm‘wm&ﬂw
2 %% Fratfra #4

Question Nos | 1o 8 are Short Answer Type. Answer any 4 gquestions Each Question

curnes 2 marks

l.-

mEfe o @ b ) ow et oim @ meE fom 20 cm kA GEE

w ko

T i

4!2..

‘.:‘8

b bl

2

What is sphencal mirror ? What is the focal length of the sphencal mirmor whose

radius of curvature is 20 em ?

TE Ha & sl sn w@d s T b )

Why is convex lens called converging lens ?

.

3, gl ) op ferd sen s G 2
What are the defeciaof vaman #? What are its types ?

4. TU N W i e e g k) 2
Why is the colour of clear sky blue ?

5 fewt aew w o fem wret o Bl s 2 2
On what factors does the resistance of a conductor depend ?

6  faga wizy & fawew ooe @ w1 R ) 2
What is the role of sphit-nng in an electric motor ?

7. v v wd Re v ] sew 2
Distinguish between alternating current and direct current.

8. 38 & faam & f=d 2
Write Ohm's law.
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nt i uyy / Long Answer Type Questions

TYA RO 9 3 10 € Tfra swy by g o fawit e w7 €1 e OV &
6 % Frutfrar #,

Question Nos 9 and 10 gre

Question cames 6 mark s

] ~6+=6
I—‘"’"r} Ansioer I’J;‘" Queshons Ansuwr any one r)f them Each
] »6=6

O U‘-ﬂf‘l’ 5#7 E‘ni”]”-é” 3, S 1 oIy W) Lf-l'fjl_ LHi+ iR o E-fm L AR rfa- L Y mlpﬂil 0

r
Wnite the 81 units of remistance and potential difference Explain the
venfication of Ohm's law

1o fam wy wrem g ﬁ

a) HTHH im @ pamd o & #7 9 wad fem oam k7
b)  IPE 2w Tem aerg far & w3 o et e o b )
¢ WUAH I W TR e w4 e Emorn Ber

Explain the reasons of the follosan g
a) Why is concave mifrortised as shaving mirror ?
b) Why is comvax mietr used as sade musror 7

<) Why is cancave murror used in solar cooker ?

AR M¥A |/ Chemistry

MY IAITT T¥A / Short Answer Type Questions
o¥T WO 11 % 177% Ay yAvie 1y @ AT 4 ot & yAv &)1 omiw 0 & fag
2 3% Praifta & 4228
Question Nos. 11 to 17 are Short Answer Type Answer any 4 questions. Each question
cames 2 marks. 4-2-8

1, e shaiEman & fe wfem TReias wEee RO 1+l

o) o feem amz  TrE Tz . feen

by WIZAR - 7 , WG OEECS « ETOA
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12.

13

14,

15,

16.

17.

o¥T W 180 19 3G Fwdw §) yvi # few vw a7 I &1 9w 9W F v

Write the balanced chemical equation for the following reaction®
Al Zinc + Siler nitrate -» Zinc nitrate + Silver

b Sodium * Water -» Sodium hydroxide . Hydrogen
wifgws wretde @ ol fre wrdta g k@ 2

The aqueous solution of sodium carbonate is alkaline. Why ?
o vt . srr & s @ s @

Wnite two diffcrences between mincrals and ores.

W A wddas w1 @k 2

Why does carbon maunly form covalent compounds ?

@mmmﬁmmlmftﬁ?mmﬂmw““'1"“‘?

®E

What is the namec and atomic number ofgthe jclement having clectronic

configuration 2, 8,7 ?

@i 3% e 7 e qe seima & e wdemo e
Write the equation fof the reaction of Plaster of Paris with water.
T WV 67 ¥ 40 HAWE 2

What steps are important for forest conservation ?

#id i 9 Long Answer Type Questions

s 3w Fraifta &1

carnes 5 marks.

18.  WEHTETT ¢ 2 U e § few wen e k2
What is saponification ? How does it differ from esterification ?
[212 ] C |7038-C uy Page 18 of 20
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Question Nos. 18 and 19 are Long Answer Type. Answer any onc of them. Each question



19 FOR| T g w S wd
'—

*

Ral B
W ey
w YIwEy
{w) TR FOT
PO ol
v frEm

ia)

fct
i

tej

Match Column-l and Column-{]

Columa-1
() Baking soda
(@}  Washing soda
(m] Globar salt
() Blue vitnol

v Gypsum

Ll B 1
CaS0O,.2H O
CuSO, SH,0
NaHCO,
Na,CO, 10H.0

Na SO, 10H,0

Colama-U
CaS0O, 2,0
CuSOg 5H,0
NaHCO,
Na,CO, 10H,0

Na SO, 10H;0

A2 fam= / Blology

Hqﬂﬁﬂmfnmmww
O¥T FT 20 % :saragrmﬁvhnﬁ#ﬁﬁuﬁ&mi:mmiﬁv

2 5% fraifa i

LW,

4=2=8

Quesnon Nos 20 to 26 are Short Ansuver Type Ansuer any 4 questons. Eoch gqueston

carmes 2 marks

2  CETW ORI b ) T TRNAE S |
rd

What is photosynthesis ? Wnite its chemcal equation
21, WA A F 8 B & = e

Write any two differences between resprration and combustion.

4-:'5

-
-
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Page 19 of 20

by:BSEBResult.In



22 e e ity e aratd @k 7 e A et & wd 2

- n beings ? Write the
What are the components of the circulatory aystem in huma K

functuons of any two componcnts
23 A @ ofearn &) 3w S E 2

Define excretion. What are excretory products ?

24 TS B et wwa R A 2
How does chemical coordination take place in animals ?

25, e R @) avten A o & ww A € 2 2

to ascxual

What are the bencfits of sexual reproduction in comparison

reproduction ?

2 s ® sqazEl wt @ qfeE ¢ ? 2
What is the role of decomposers in Uie cgosystem ?

it Fa{la 7¥1 'Long Answer Type Questions

g¥y W 27 04 ua?tfwﬁcriﬁni#ﬁ'n?wmmifmmtﬁq

s 3% Fraifa ¢ 1x5=5
Question Nos. 27 and 28 are Long Answer Type. Answer any one of them. Each question
carries 5 marks. P x5=5
b7 it @ A o s R TR w2 5

How does formation and depletion of ozone take place ?
L5 T WA gT T f v we & fe FeRitee A € 5

With the help of an ecxperiment show that chlorophyll is essenual for

photosynthesis. Seresiiihi oy |
r%%zzsqpr w3 o, e _[rgfﬁ'g
o it ol
mﬁmﬁmma’mmﬁm
UES U & fRT...
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